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egl.(a) x+4—-6x—8

eg.2.(a) 8y?—6y+ 5y?+ 3y — 10y?
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o

(a) 3xy+ 2xy —8xy

(a) 7xy—3yx+ 12xy — 8yx

(a) 9x%y + 3xy?— 5xy?

(a) 5r?s —4rs? + 2s%r — 9sr?

(a) 4h%k — 3hk + 2h%k — 8h%k

(b)

(b)

(b)

(b)

(b)

(b)

(b)

5w? - 10w - 8w - 7w?

2ab? — 7ab 4 5ab? — 6ab? + 2ab

— 35t + 55%t — 85t

4abc —5bca + 4cba —2cab

4m3n? —=m?n3 + 10m?n3 - 11m3n?

8y3x* — 7y + xy3 — 5y3x

Oxy?z — 8x3y?z + 2x3y%z + 4xy’z + 5x3y*z
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(SGRpIE= v

1. (a) 9a-12a+5a

2. (a) (-2a) - (-3b) + (-5a) - (+ 5b)

3. (@ 2rs—3r—7rs+5r

4, (a) 7xy? — 6xy + 9yx — 12y*x

5. b FAIS > WHEERIIEE -

(@) x3+2x2—-8x3+9x+7x* -6+ 2x

(b)

(b)

(b)

(b)

(b)

12k - 4h + 8k - 6h + 2k

(+5x) - (-5) - (+2y) + (-3x) - (+ 3)

7bc — 4b%c + 5bc — 10bc — b?c

2ba — 6a%b + 9ab — 7ba® — 2ab

6y? — 18y* + 9y3 + 5y? — 12y*
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(1) YFHESRIS A RIEEATN - — -

(2) EPEUESRIE > T+ -

(3) EPEUEGENE - RS -

LR MRS - ARE - EFRIEEEI -

e.g.l. (—2a+6b—7)+ (-9 + 5a) — (8b + 4a)
e.g.2. (3x%2 — 7x) — (9 + 5x2 — 6x)
e.g.3. (7m?n — 8mn) — (9mn — 2mn?) + (mn? — 4m?n)

e.g.4. (2xy — 9xy? + 5x2%y) — (8yx? — 4xy) + (7xy> — 5xy + 2x2%y)
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1. (a) (=3x+5)+(4—-2x) (b) Oy +4) — (=5+2y)
2. (@)  (3h+2k—6)— (5k—4+ 8h) (b)  (=2r+9—3s)+ (4s— 5r+ 2)
3. (a) (2a2 —3a+ 1) — (6 +a—4a? (b) (5+4w—8w?) — (3Bw2—w+7)
4. (a) (6ru + 4rs) + (8rs — 9ru) (b) (9ac — 12ae) — (bae + 5ac — 8)
5. (a) (2ab —9am + 7) — (5am + 4ab) (b) (5xy — wy) — (—2yx + 3yw)

6. (a) (2x2%y — 5xy) — (2xy — 4yx?) (b) (4h?k3 — 9h3k?) — (6k3h? — 2k?h3)
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(1) B x FIEA

SlicsE: : x(a+b) =ax +bx

JEEhA TS - AFRE - BELERED -

egl. (a) y(2 —x)

=2( ) —x( )

e.g.2. (a) —2a(6a—Db)

= 6a( ) —b( )

&HE B
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1. (a) 4(5—Db)

2. (a) 2x(3a—4b)

3. (a) —a(Z2a+3b-15)

4. (a) rs(2r?s — 7rs?)

(b)

(b)

(b)

(b)

(b)

(b)

—a(4x — 5y)

4x( ) —5y( )

4xy(5x — 2xy)

= 5x( ) — 2xy( )

—6(2a—3b + 4)

—5k(2x — 3y)

4x(3x? — 8x + 6)

2ab?(2ab + 7a?b)
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5 (a) 2(y+6)—-5(1-y) (b) —x(5—-2x)+23x+7)
6. (a) 2a(4 —3a) —5a(6a+ 3) (b) 3ab(a — 4b) — a(2b? — 3b)
C. ZIRATRA
(2) ZIHA x ZIEH
Tl (c+y)(b+c)=bx+y)+clx+y)
R T -

e.g.7 @+2)(b-3)

e.g.8. (4—-a)th-k)

e.g.9. (Bw = k)(2x + 5y)

e.g.10. (B3a—Db)(x+ 2y)
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1.

2.

3.

(@) G—x(@F+4)

(@) (2r—=s)(a+3b)

(a) (2a—Db)?

(b)

(b)

(b)
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4.

5.

(@) Ax+3)(x—2)

(@) (=6y+5)(9—4y)

(b)

(b)

(y =x)(m +n)

(6h — 5k)(7m — 3n)

(y — 5%)?

(2-3x)(2x+3)

(9—-20)(3+7¢)
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6. (a) (x2—2x)(4—x) (b) Q2y-y»HBy*+1)

7. (a) (2h+1)? (b) (3x?% — 2x)?

8. (a) (x—2)(3—x)?

(b) (4+1)(r—2)°




